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SECTION A 

 

I. Choose and write the correct option.                                                    [1x10]= 10M 

 

1. Match the following items given in column A with those in column B. Choose the 

correct answer from the options given below :  

 Column  A                                                                                                                           Column B 
 

A. Two Treatises of Government                                                   1. Jean Jacques Rousseau 

B.  The Social Contract.                                                                  2. Montesquieu 

C.  The Spirit of the Laws                                                                 3. Roget de L’Isle 

D. The Marseillaise                                                                           4. John Locke 
 Options: 

 

(a) A- 4, B-1, C-2, D- 3.                   (b)  A- 3, B- 1, C-4, D-2    

(b) A- 2, B-1, C-3, D-4                     (d) A-1, B-4, C-2, D-3  

                                                                                       

2. Which of the following is a fixed capital in the production of newspaper ? 

 (a) Paper                                           (b) Printing machine        

 (c) Ink                                                (d) Money 

 

3.  Rajat works in a textile factory. There, he dyes the fabric. Other workers are also engaged 

in different activities. Some workers spin the yarn, while some workers weave cloths. Some 

other workers like Rajat dye the fabric. 

 Analyse the information given above and consider which one of the following factors of 

production is talked about : 

  (a) Fixed capital                                    (b) Human capital             

  (c) Working capital                              (d) None of the above 

 

4. What influence the duration of day and night?  

(a) The latitudinal extent                     (b) The longitudinal extent 

      (c) Coastal boundary                           (d) Land boundary 

 

5. Arrange the following incidents of French Revolution in the correct chronological 

sequence:          

(a)The Tennis Court Oath                

 (b)  Louis XVI called an assembly of the Estates General 

(c) Louis XVI accorded recognition to the National Assembly  



(d)  The crowd stormed and destroyed the Bastille  

         (a) i— iv —iii—ii                                       (b) iii —iv— i—ii 

         (c) ii— i—iv —iii                                       (d) iii— iv —ii — i 

 

6. The following questions consist of two statements-  Assertion (A) & Reasons (R). Select the 

correct option. 

Assertion (A)- Other forms of government like monarchy, dictatorship or one-party 

rule do not require all citizens to take part in politics. 

Reason (R)- In fact most non-democratic governments would like citizens not to take 

part in politics. 

(a) Both A & R are true and R is the correct explanation of A. 

(b) Both A & R are true but R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 

7. “One person, One vote “ means: 

              (a) One person is to be voted by all.           

              (b) A person can contest election. 

              (c ) Each adult citizen must have one vote and each vote must have one value. 

              (d)None of these 

 

8.  Name the direct tax levied on the third estate. 

              (a) Taille                                                      (b) Tithes 

              (c) Custom duty                                         (d) Livre 

 

9. Uttarakhand, Uttar Pradesh, bihar, West Bengal and Sikkim have common frontiers with- 

               (a) China                                                     (b) Nepal 

               (c) Bhutan                                                  (d) Myanmar 

 

10. Multiple cropping means growing- 

                (a) growing one crop                               (b) more than one crop 

                (c) more than two crops                         (d)  None of these. 

 

SECTION -B 

 

Answer the following questions.  [Any 4]                                                            4x3m=12m 

 

11. What were the causes of the empty treasury of France under Louis XVI 

12. What are the different ways of increasing production on the same piece of land? Use 

examples to explain. 

13. Explain the dirty tricks used by PRI to win elections in Mexico. 



14. Explain any three features of the constitution of France, drafted in 1791? 

15 . The Indian landmass has a central location between the East and the West Asia. India is 

a southward extension of the Asian continent. The trans Indian Ocean routes, which connect 

the countries of Europe in the West and the countries of East Asia, provide a strategic central 

location to India. Note that the Deccan Peninsula protrudes into the Indian Ocean, thus 

helping India to establish close contact with West Asia, Africa and Europe from the western 

coast and with Southeast and East Asia from the eastern coast. No other country has a long 

coastline on the Indian Ocean as India has and indeed, it is India’s eminent position in the 

Indian Ocean, which justifies the naming of an Ocean after it. 

(i) In the mid19th century a development took place which reduced the distance 

between India and Europe. What was it? 

(ii)  Before the development of maritime routes, how did India maintain its contact with 

the world? 

(iii)  What are the benefits of having a long coast line in India? 

SECTION C 

Answer the following Questions-   [Any 3]                                          3x5m= 15M                                

16. What is the main aim of production? Explain the factors of production? 

17. Explain any five arguments in favour of Democracy. 

18. Which meridian is considered as the standard meridian of India? Why ? How the sun 

rises two hours earlier in Arunachal Pradesh as compaired to Gujarat? 

19. Explain in detail about the French division of society. 

 

SECTION D 

MAP WORK- In the given outline map of India , mark & label the following-  3x1=3M 

1. Delhi        2. Indian standard meridian       3. Andaman Nicobar Island. 

-------------------------------------------------------------------------------------- 

 


